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Year 1 Year2—|
(Rs.) (Rs.)
Stock:
Raw Materials 20,000 27,000
Work-in-progress 14,000 18,000
Finished Goods 21,000 24,000
Purchases 96,000 1,35,000
Cost of Goads Sold 1,40,000 1,80,000
Sales 1,60,000 2,00,000
Creditors 32,000 50,000
Debors 16,000 18,000
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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt
of this question paper.

2. Attempt all questions..

3. All questions carry equal marks.

4.  Use of-Simple calculator is permitted.

5. Answers may be written either in English or Hindi;
but the same medium should be used throughout the
paper,
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(a) Why is it inappropriate to seek profit maximization

as the goal of financial management? How would

you justify the adoption of wealth maximization as .

an apt substitute for it? (8)

(b) A person wants to award a scholarship of Rs.
1000/- per year for the next 10 years. The first
scholarship will be awarded after the end of one
year and thereafter the amount of scholarship will
grow at the rate of 5% per year to offset inflation.
Find the sum to be invested now for this

scholarship if the rate of interest is 10%. {7
OR

(a) “Cash flows occutring at different points of time
are not comparable”. Explain the reasons and how

can they be made comparable. (8)
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(b) A 4-year annuity of Rs. 3000/- per year is
deposited in a bank account that pays 9% interest
compounded yearly. The annuity payments begin
in year 12 from now. What is the future valye of
the annuity? (7)

The Compounded Value Annuity factors at 9%
are

ABC Ltd. is considering the introduction of g3 new
product. It is estimated that profits before depreciation
would increase by Rs. 1,20,000/- each year for first
four years and Rs. 60,000/~ each for the remaining
period. An advertisement cost of Rs. 20,000/- s
expected to be incurred in the first year, which is not
included in the above estimate of profits. The cost
will be allowed for tax purpose in the first year,

A new plant costing Rs. 2,00,000/- will be installed
for the production of the new product. The salvage
value of the plant after its life of 10 years is estimated
to be Rs. 40,000/-. A working capital investment of
Rs. 20,000/- will be required in the year of installation
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of the plant and a further Rs. 15,000/- in the following
year. The company’s tax rate is 30% and it claims s \ 1 2 3 4 \ 3
written down value depreciation at 33.33%. If 129 7% AT T ‘0.3929 0.7972 | 0.7118 | 0.6355 l0.5674
company s required rate of return is 20%, should the 4y e e \ o572 | 07695 | 0.6950 | 05921 \ 51
company introduce the new product on the basis of

159/311'«:%%&&} H_Beisgs 0.7561 | 0.6575 ﬂﬂ 0.4972
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(b) A company is considering a proposal of installing

a drying equipment. The equipment would involve (ii) 3 =R W W S ) R
a cash outlay of Rs. 6,00,000/- and net working :
capital of Rs. 80,000/-. The expected life of the (i) = = w fAa IEeE @i = (7)

project is 3 years without any salvage value.
Working capital is to be realized in last year. S | |
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Assume that company is allowed to charge
depreciation on straight-line basis for income tax
purpose. The estimated before tax and deprecation
cash inflows are given below :

Year

Cash

Inflows

1 2 3 4 5
Rs.2,40,000 | Rs,2,75,000 Rs.2,10,000 | Rs.1,80,000 Rs.1,60,000

The applicable income-tax rate to the Company is
35%. If the company’s opportunity cost of capital
1s 12%, calculate the equipment’s Payback Period,
Net Present Value and . Also advice the Company
regarding installation of the Equipment, (7)

The Present Values factors at 12%, 14% and 15%
are :

Year ] 2 3. < s 5 —’
PV factor at 12% | 0.8929 | 0.7972 | 07118 | 0.6355 | 05674
PV factor at 14% | 0.8772 | 07695 | 0.6950 | 0.5921 | 05154

PV factor at 15% | 0.8696 | 0.7561 | 0.6575 0.5718 | 0.4972

(a) Why is the cost of Debt is generally lower than

the cost of equity? (8)

(b) The share capital of a company is Rs. 10,00,000

with shares of face value of Rs. 10. The company

PiL.@,
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has debt capital of Rs. 6,00,000 at 10% rate of
interest. The sales of the firm are 3,00,000 units
per annum and the selling price of Rs.5 per unit
and the variable cost is Rs. 3 per unit. The fixed
cost amounts to Rs. 2,00,000. The company pays
tax act 35%. If the sales increased by 10%,

calculate :
(i) Percentage increase in EPS;

(ii) Degree of operating leverage at the two

levels; and

(iii) Degree of financial leverage at the two
levels. (7)

OR

(a) Discuss the concept of trading on equity in
detail. (8)

(b) A-One Ltd. has the following capital structure .

Equity share capital (2,00,000 shares) Rs.40,00,000 |
6% Preference shares Rs.10,00,000 {
8% Debentures Rs.30,00,000 |

' Total Rs.S0,00,000J

The market price of company’s equity share is
Rs. 20. It is expected that company will pay a
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4.

5

dividend of Rs. 2 per share at the end of current
year, which will grow at 7% for ever. The tax
rate is 30%. You are required to calculate the
weighted average cost of capital using book value

-weights and market value weights., (7)

(a) Critically evaluate the Net Income and Net

Operating Income approach to capital structure.

(8)

(b) Companies U and L are identical in every respect

except that the former does not use debt in itg
capital structure, while the latter employs
Rs. 6,00,000/- @ 15% debt. Assuming that (i) all
the Modigliani-Miller (MM) approach assumptions
are met, (ii) the corporate tax rate is 30%, (iii)
the EBIT is Rs. 2,00,000/-, and (iv) the equity
capitalization of the unlevered firm is 20%, what
will be value of the firms, U and L? Also determine
the weighted average cost of capital for both the
firms. (7)

OR

(a) From the following information, ascertain whether

the firm is following an optimal dividend policy as
per Walter Model?

PT.O.
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Total Earnings Rs. 2,00,000/-

Number of equity shares

(Rs. 100/- each) 20,000
Dividend paid Rs. 1,50,000/-
Price/Earnings Ratio 12:3

The firm is expected to maintain its rate of return
on fresh investment. Also find out what should be
the P/E ratio at which the dividend policy will

have no effect on the value of the share?  (8)

(b) From the following data, compute the duration of

the operating cycle for cach of the two years and

comment on the increase/decrease :

Stock:
Raw Materials

W ork-in-progress
Finished Goods
Purchases

Cost of Goods Sold
Sales

Creditors

Debtors

Assume 360 days per year for computational

purposes. (7)
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" (e) Net float

9

(a) Explain the Baumol’s model of cash management
in detail. : ; (8)

(b) What do you understand by the optimum dividend
policy of the Firm? (7

OR
Write short notes on any three:
(a) Gross & Net Working Capital
(b) Indifference point
(c) Arbitrage process
(d) Economic Order Quantity (EOQ)

(5 Marks Each)
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